Do (6 x 3) first.
<~ Do operations

Do : 2 + (6% 3) We say:
st inside the grouping 6 X 3 = 18 then
ncepts 2
ot symbols first. grouping symbols 2+ 18 = 20,
@:a30+06-4 b 23 - (14 + 6) ¢ 4+(5x6)

d&- (e 12 g3l — (36=N0) f 46 —-(19+ 11)
g(12—10)x(20—5) h(@+7) +(13-138) i 6xX(3+6+1)

'~ If only addition and subtraction are Example: 14 -6 + 4 - 3
present, do the operations in order,

=8+4-3 (o
Concepts going from left to right. = 12—3@ A
©a30+6-11 b21-12+8 €37-12-6
d60+14-4 e 6109 £33 700

g40—-10-8-2 h42+8+9-7 i 64-4-6+12

If only multiplication and division are Example: 4x 5+ 10 x3

present, do the operations in order, =20+10x3
going from left to right.

Concepts

=2x3
- B
9a3><4><2 b9+3x5 c5x6+10
d12+4x6 e14+7x9 f20+5x%x3
g24+-6x2+4

h3x8%2+3 1 35¢2 <) =6

Order: 1 Grouping symbols Example: 15 — (12 — ?) =5
2 xand =+, left to right = 12105
i 3 + and —, left to right = B —2
Oa3+7xs b20-3x2 c9-18+3

g5 H4s gile— (i -8 2 f6x8-(3x7)
g6+(8—-3)+5 h18+20x2+5 i 40-8+4x2

| NS3.3 Selects and applies appropriate strategies for multiplication and division

NS3.2
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This flow chart
really helps. £

START

\ Z Example
Do operations inside grouping symbols. 8x(3+4)- 12_ ~(1+2)
i B Remove grouping symbols.
Do multiplication and division going from left to right. =85 = 1_2 +, . .
v Do multiplication and division.
Do addition and subtraction going from left to right 5 4
2 9™ | Do addition and subtraction.
r
K 3 STOP =
©:35<G+5 " | b6-3x2 | e T+16+4
d10-(8-4) e (16-6)x 8 f (15+3)+6
g 14-6x2 | h18+10+2 | i 50+ 5x5
o  k16x3+40 | 16+ 3 x 40
©a2x3+2x10 b4+6x7+3
c6x8-7x4-4 d15xG+11-7)
e (6+3)x7-15+1 | f80-(63-13)+7
g8-5+5-8+8+2 | h16+4x18+2-4
i 150+(0 +7)x10-50 j 74-8-8-(8-8)
k 15 = (3 x 5) + (3 x 5) | 50416+ (8=8)-(6x8)

o Put in grouping symbols to make each sentence true. Example
al6-3x2=26 b6-3x2=6 c 10x6+4=100 612 19
d6x3+5-48 e50=5+5=5 f70+10-3=10 (Sl GHEE

6+12)+3+1=7 No
g27-14-8=21 h4+3x12-2-10=72 3
i 100 x 40 - 20 - 10 = 1000 Sl

3@ A bridge of numbers | 2
0 a Fill in these rectangles if the solid black arrows mean =+ 4
and the solid coloured arrows mean x 8.

KB s . ’

Yy 4 Y - A Y - < Y - A Y Calculator
— 7 - = e o —_— Challenge

What opera‘tion is néeded to link the boxes alohé:
K ; b the black broken arrows?f ¢ the coloured broken arrows?ﬂ /

NS3.3 Selects and applies appropriate strategies for multiplication and division % NS3.2, PAS3.1b




